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1x5=5

5. A _composite number is a number that has more than two factors.

1. 23x100 = __ 2300
a. 23 b. 100 c. 2300
2. 65480 + 65480 = 1
a. 1 b.0 c. 100
3. A number which is divisible by 9 is also divisible by
a. 4 b.0 c. 10
4. Dividend = Divisor x ___ Quotient
a. Quotient b. 100 c.0
a. Prime b. Composite  c. Natural

B. Do as directed:
6. Write the first 4 multiples of 13
13x1=13
13x2=26
13x3=39
13x4=52
7. Findthe product a. 6432 x 222
6432
X 222
12864
128640
+1286400
1427904

8. Factorise 48 using the factor tree method.
48\
/ 24
¥\
2 12
¥\
2 6
rd
Ny

9. Divide and find the quotient a. 252525 + 25

2

2x4=8
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olve the following questions as directed

10. Divide the following and check the answer

a. 56437+ 12

4703

12 56437
— 48

84

— 84

003

- 0

37

— 36

01

Checking :

Q=10101

R=0

3x4=12

Q = 4703

R=01

Dividend = Divisor x Quotient + Remainder

56437 = 12
= 56436 +1
= 56437
b. 55550 + 50
1111

50 55550
— 50

55

— 50

55

— 50

55

— 50

50

— 50
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Checking :

Q=1111

R=0
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Dividend = Divisor x Quotient + Remainder
55550 50 x 1111 + 0

55550 + 0

55550

11. The cost of a wooden table is [1 2,375. A government office purchased 236 such tables. How much money
was spent in all?

Solution: 23575
x236

Cost of 1 table =32,375 14250
. Cost of 236 tables = ¥2,375 x 236 = ¥5,60,500 71250
+475000

Answer: The office spent ¥5,60,500 in buying 236 tables. 560500

12. Check the divisibility of 58239 by a.3 b.4 c.6

a. 5+8+2+3+9=27
26 is a multiple of 3. It is divisible by 3.

b. 39 is not a multiple of 4
It is not divisible by 3

c. 9isnotan even number so it is not divisible by 2
It is divisible by 3
Therefore, it is not divisible by 6

13. Using the Prime factorization method, find the HCF.
a. 18, 24 and 60

Solution:
Prime factorisation of 18 =2 x 3 x 3 2 18 2 | 24 2 | 060
: - 3 3 ] 2| 12 2 |
Prime factorisation of 24 =2 x 2 x 2 x 3 | 9 : 1 21 30
, 31 3 216 3015
Prime factorisation of 60 =2 x 2 x 3 x5 1 3 3 : .
Common prime factors = 2 and 3 1 i

HCF = Product of common prime factors =2 x 3 =6

Answer: HCF of 18, 24 and 60 = 6

CL_5_PRE MID TERM_ MS_3/3



